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1. Use the method of Gauss-Jordan elimination to find reduced echelon form of the
tollowing matnx.

00 2 -2 2
3 3 -3 9 12
4 4 -2 11 12

2. Determine the equation of the polynomial of degree 2 whose graph passes through
the points (1, 6), (2, 3), (3, 2).

- -

] -1 -2
3. Determine the inverse of the matnx A= 2 -3 -5
=1 3 5

4. Evaluate the determinant of the following 4 x 4 matrix.

F “———

2 10 4
0 -1 0 2
17 -2 3

0 10 -3

5. Show that the set {(3, -2, 2), (3, -1, 4), (1, 0, 5)} 1s linear independent in R’




